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[bookmark: IU_Fragen_export]DLBINGSD01_Unit 01_Question01
How much data was generated worldwide in 2016?
16.1 zettabyte (1 pt)
16.1 gigabyte (GB)(0 pts)
16.1 terabyte (TB)(0 pts)
16,100 megabyte (MB)(0 pts)


DLBINGSD01_Unit01_Question02
When was the first concept of an easily portable computer for children developed?
1968 (1 pt)
1958 (0 pts)
1978 (0 pts)
1988 (0 pts)

DLBINGSD01_Unit01_Question03
What does Moore's Law state?

The complexity of integrated circuits with minimal component costs doubles regularly (between 12 and 24 months). (1 pt)
The complexity of integrated circuits with maximum component costs regularly halves (between 12 and 24 months). (0 pts)
The complexity of integrated circuits with maximum component costs doubles irregularly. (0 pts)
The complexity of integrated circuits with minimal component costs doubles irregularly. (0 pts)

DLBINGSD01_Unit01_Question04
What does IoT mean?
Internet of Things (1 pt)
Internet of Technology (0 pts) Intranet of Technology (0 pts) Internet of Technique (0 pts)

DLBINGSD01_Unit01_Question05
Communication costs…
... have dropped. (1 pt)
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DLBINGSD01_Unit02_Question01
Smart devices are...
... multipurpose devices. (1 pt)
... application services. (0 pts)
... not portable. (0 pts)
... easily maintained hardware components. (0 pts)

DLBINGSD01_Unit02_Question03
Which statement is false?
Boards have a size of less than 1 m. (1 pt)
Computerized devices are getting smaller, easier to operate, and lighter in weight. 
(0 pts)
Computerized devices are becoming cheaper to manufacture and run. (0 pts)
We consider computers primarily in terms of multi-application-supporting personal computers (PCs). (0 pts)

DLBINGSD01_Unit02_Question04
Which statement is false?
All smartphones are phablets. (1 pt)
A smart watch is a mainly digital and ”smart” wristwatch with a small display that can be operated similarly to a smartphone. (0 pts)
Smart glasses provide information in the user’s field of vision. (0 pts)

Smart clothes fall under the category of wearables. (0 pts)

... have developed linearly. (0 pts)
... depend exclusively on the individual wiring. (0 pts)
... have developed proportionally. (0 pts)



[image: ][image: ]
DLBINGSD01_Unit02_Question02
What is understood by UC?

UC stands for Ubiquitous Computing and means omnipresent computing. (1 pt)
UC stands for Unified Computing and means omnipresent computing. (0 pts)
UC stands for Ubiquitous Computing and means the synchronization of all smart
devices. (0 pts)
UC stands for Unified Computing and means equality for all smart devices. (0 pts)
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DLBINGSD01_Unit02_Question05
Which statement is false?
MEMS are exclusively mechanical micromachines or systems. (1 pt)                MEMS means Micro-Electro-Mechanical Systems. (0 pts)
MEMS are tiny integrated devices or systems. (0 pts)
The term MEMS is misleading because it does not necessarily mean mechanical micromachines or systems. (0 pts)

DLBINGSD01_Unit03_Question01
Which statement is false?

The term microsensor describes a miniature device that always converts an electrical value into an electrical signal. (1 pt)
The term microsensor describes a miniature device that converts a non-electrical value into an electrical signal. (0 pts)
Physical values can be measured with a microsensor. (0 pts)
A smart microsensor contains a changeable algorithm and a certain amount of storage space. (0 pts)

DLBINGSD01_Unit03_Question02
Which of the following examples is correct for self-testing smart sensors?

ADC Chips (1 pt)
Resistive gas-sensor pair with different geometry (0 pts) 
Temperature compensating acceleration sensors (0 pts)
“Cellular automata” and VLSI chips (0 pts)

DLBINGSD01_Unit03_Question03
Which statement about Bluetooth is correct?

Bluetooth was developed in 1998 for wireless data exchange over short distances and with high data volumes. (1 pt)
Bluetooth network protocols have not yet been standardized. (0 pts) 
Bluetooth as an industry standard IEEE 802.15.1 belongs to the group of Wireless Local Area Networks (WLAN). (0 pts)
The second generation of the Bluetooth standard BLE features high energy consumption. (0 pts)
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DLBINGSD01_Unit03_Question05
What are the main components of a CPU?

The arithmetic logic unit (ALU), the processor register, and a control unit (1 pt)

The arithmetic logic unit (ALU) and the processor register (0 pts) 
The arithmetic logic unit (ALU) and a control unit (0 pts) 
The processor register and a control unit (0 pts)

DLBINGSD01_Unit04_Question01
Which statement concerning LANs is correct?

LANs consist of a wide range of different devices, which are connected by cable or wirelessly over a large area (apartment, building, ...). (1 pt)

In most cases, low data volumes are required within LANs as the number of devices can vary greatly. (0 pts)
The total range of a LAN is up to several meters. (0 pts) 
Modern LANs ensure high bandwidth, but do not offer any network security options. (0 pts)

DLBINGSD01_Unit04_Question02
Which statement about PANs is false?
Modern PANs ensure a high bandwidth. (1 pt)
PANs are networks that operate in a surrounding area of only a few meters. (0 pts)
A PAN does not require an Internet connection. (0 pts)
Three topologies have proven effective for networking individual devices: star topology, cluster tree, and mesh topology. (0 pts)

DLBINGSD01_Unit04_Question03
DLBINGSD01_Unit03_Question04
Which of the statements about processors is false?

Most modern CPUs are microprocessors contained in different circuits. (1 pt)

Processors come in many types and for many uses. (0 pts) 
Processors are at the heart of all smart devices. (0 pts)
Power consumption plays a very important role for networked and embedded applications. (0 pts)
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DLBINGSD01_Unit04_Question04
Which layer is not part of IoT architecture?
Transport layer (1 pt) 
Device layer (0 pts) 
Middleware layer (0 pts) 
Business layer (0 pts)

DLBINGSD01_Unit04_Question05
Which network is not part of the networking of smart devices?
World Area Network (WAN) (1 pt) Metropolitan Area Networks (MAN) (0 pts) Wide Area Network (WAN) (0 pts)
Body Area Network (BAN) (0 pts)

DLBINGSD01_Unit05_Question01
Which statement about user interfaces is false?
Prior to the development of the command-line interface, “menus” were common. (1 pt)
The user interface is anything that is factored into an information device to enable human interaction. (0 pts)
The user interface is the way a user interacts with an application or website. (0 pts)

With the growing reliance on web applications and mobile apps, the user interface has been given a higher priority in order to improve the user experience. (0 pts)

DLBINGSD01_Unit05_Question02
Which statement about the user interface is false?
Mobile user interfaces are used exclusively to create interfaces for

Which statement about WBANs is false?
The total range of a WBAN is up to several kilometers. (1 pt) 
WBAN devices can be used to implement complex and reliable applications with high device density. (0 pts)
The applications are specifically designed to meet the needs of the human body and serve as an interface to other networks, whether PAN or LAN. (0 pts)
The prime focus of WBAN applications is mobility. (0 pts)
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DLBINGSD01_Unit05_Question03
Which of the following is not a type of touchscreen?
Ultrasound (1 pt)
Surface capacitive (0 pts)
Projected capacitive (0 pts)
Infrared (0 pts)

DLBINGSD01_Unit05_Question04
Which type of gesture could be used for gesture control in 2018?
Symbolic gestures (1 pt)
Iconic gestures (0 pts)
Mime gestures (0 pts)
Sign language (0 pts)

DLBINGSD01_Unit05_Question05
Which variable of human speech is irrelevant for speech recognition systems?
Lip reading (1 pt)
Amplitude (0 pts)
Pitch (0 pts)
Phonetic stress (0 pts)
small screens (e.g., smartphones and tablets). (1 pt)
In earlier computers, the only user interfaces were a few buttons on the operator console. (0 pts)
The user interface was developed with the introduction of the command-line interface, which initially appeared as an almost blank screen with one line for user input. (0 pts)
The Graphical User Interface (GUI) originates mainly from Xerox's Palo Alto Research Center. (0 pts)




DLBINGSD01_Unit06_Question01
What goal do ubiquitous systems not pursue?

Linking all systems into an omnipresent service domain (1 pt)

Increasingly integrating more devices and infrastructure into everyday life without them being physically disruptive (0 pts)
Designing electronic circuits and appliances to be smaller, cheaper, and more dependable (0 pts) 
Producing electronic circuits and appliances with less power (0 pts)
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DLBINGSD01_Unit06_Question02
Which of the following is not a main type of context sensitivity for external environments supported in UbiCom?
Psychological context (refers to one's own psychological state) (1 pt)
Physical environment context (refers to some physical world dimensions or phenomena such as location, time, temperature, precipitation, light level) (0 pts)
Human context (interaction is meaningfully constrained by users) (0 pts)
ICT contexts or virtual environments (a designated component in a distributed system is aware of services available within that system, internally and externally, locally and remotely) (0 pts)

DLBINGSD01_Unit06_Question03
When can system autonomy improve?

System autonomy can improve when a system can determine the state of its own environment. (1 pt)
System autonomy can improve when a system cannot create and maintain a smart behavioral model of its own environment and itself. (0 pts)

System autonomy can improve if it cannot adapt its actions to the model and to the context. (0 pts)
System autonomy can improve when a system cannot determine the state of its own environment. (0 pts)

DLBINGSD01_Unit06_Question04
According to Poslad, what environment is relevant to a management system for smart devices in human-machine interaction?
Virtual environment (1 pt)
Surreal environment (0 pts)
User decentered environment (0 pts)
Mental environment (0 pts)

DLBINGSD01_Unit06_Question05
Why can ubiquitous system interaction not be fully human-centered?





Because human interaction can quickly become a bottleneck in the operation of a complex system. (1 pt)
Because people should not be in the control loop. (0 pts)
Because people's cognitive and haptic abilities cannot be overburdened. (0 pts)
Because networks of devices interact intelligently for the benefit of people, but without human intervention. (0 pts)
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